
Time: 10 Minutes Paper G.Science 5th Total Marks: 10

3rd Month, 2nd Week, 6th Day Revision Test Syllabus (2nd week)

Q.No.1 Encircle the correct answer from the following choices. (5)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
1. Which type of pollination must for papaya? }}}}‰‰‰‰ÆÆÆÆaaaaÃÃÃÃyyyyÏÏÏÏ7777ààààVVVV¢¢¢¢zzzzgggg~~~~ìììì????

(a) Self pollination _5ÒýG7àV (b) Cross pollination ™Zk7àV

(c) Both type of pollination ŠzâV§bÅ7àV (d) None of these  Zy~ÐÃð7

2. Which one is not a part of flower? ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚YYYYwwww»»»»zzzz7777????

(a) Plumule øñw (b) Sepal
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3. The gram seed is covered by which structure? WWWW»»»»ÕÕÕÕ@@@@¾¾¾¾‚‚‚‚||||####ÐÐÐÐeeee....ƒƒƒƒ@@@@****ìììì????

(a) Cotyledon »K7y (b) Seed coat eÃ^

(c) Plumule øñw (d) Endosperm Zhz4x

4. The way of asexual reproduction is: ))))ÒÒÒÒÂÂÂÂ6666»»»»§§§§iiiiìììì::::

(a) Budding %+8- (b) Layeering |8- (c) Stem cutting MÈ (d) All Óx

5. Gram seed has _______ cotyledons:

WWWWÆÆÆÆÕÕÕÕ@@@@~~~~»»»»KKKK7777yyyyƒƒƒƒCCCC÷÷÷÷::::
(a) Two Šz (b) Three &

(c) Fouor eg (d) Five 0*õ

Q. No. 1.  How is a zygot formed? (2)

iiiiZZZZ""""5555½½½½ðððð JJJJGGGG
YYYY

^̂̂̂ùùùùááááCCCCìììì????   :1 ÎÎÎÎZZZZwwww����

Q. No. 2.  Which part of flower form fruit? (3)

YYYYwwww»»»»ÃÃÃÃyyyy‚‚‚‚zzzzVVVV¯̄̄̄@@@@****ìììì????   :2 ÎÎÎÎZZZZwwww����

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

Time: 10 Minutes Paper G.Science 5th Total Marks: 10

3rd Month, 2nd Week, 6th Day Revision Test Syllabus (2nd week)

Q.No.1 Encircle the correct answer from the following choices. (5)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
1. Which type of pollination must for papaya? }}}}‰‰‰‰ÆÆÆÆaaaaÃÃÃÃyyyyÏÏÏÏ7777ààààVVVV¢¢¢¢zzzzgggg~~~~ìììì????

(a) Self pollination _5ÒýG7àV (b) Cross pollination ™Zk7àV

(c) Both type of pollination ŠzâV§bÅ7àV (d) None of these  Zy~ÐÃð7

2. Which one is not a part of flower? ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚YYYYwwww»»»»zzzz7777????

(a) Plumule øñw (b) Sepal
]45

ÿ
GF

(c) Petal
&45

ÿ
F
G
Hò (d) Stamen

]4-.
è

H
GE

3. The gram seed is covered by which structure? WWWW»»»»ÕÕÕÕ@@@@¾¾¾¾‚‚‚‚||||####ÐÐÐÐeeee....ƒƒƒƒ@@@@****ìììì????

(a) Cotyledon »K7y (b) Seed coat eÃ^

(c) Plumule øñw (d) Endosperm Zhz4x

4. The way of asexual reproduction is: ))))ÒÒÒÒÂÂÂÂ6666»»»»§§§§iiiiìììì::::

(a) Budding %+8- (b) Layeering |8- (c) Stem cutting MÈ (d) All Óx

5. Gram seed has _______ cotyledons:

WWWWÆÆÆÆÕÕÕÕ@@@@~~~~»»»»KKKK7777yyyyƒƒƒƒCCCC÷÷÷÷::::
(a) Two Šz (b) Three &

(c) Fouor eg (d) Five 0*õ

Q. No. 1.  How is a zygot formed? (2)

iiiiZZZZ""""5555½½½½ðððð JJJJGGGG
YYYY

^̂̂̂ùùùùááááCCCCìììì????   :1 ÎÎÎÎZZZZwwww����

Q. No. 2.  Which part of flower form fruit? (3)

YYYYwwww»»»»ÃÃÃÃyyyy‚‚‚‚zzzzVVVV¯̄̄̄@@@@****ìììì????   :2 ÎÎÎÎZZZZwwww����

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

1 1


